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Homework Check: Average Atomic Mass
NNNNNNN lectror Mass Number :::WPENMND" :'s;lonﬂnmtinn ReVieW: ISOtopes SLi ‘ I 7Li ‘ aLi ‘
0 . 1| yerogent \H Atoms of the same element : ¢ 3
! with a different # of neutrons, R
so the mass is different @
20 | 18 | w | wons | P @ .
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What is an average? A Weighted Average is...
'}\/P‘Cd Vilwe 0 S of dot A way to find an average

using percentages

Using Percent:

How do we calculate an average?
% = Part / Whole x 100

Xit X +Xg .. ..
2 What is the percent of 7's in the beaker?

N
A ,Z X100 = 562

Sep 7-3:22 PM Sep 7-3:22 PM



Accel Atomic Structure and Nuclear KB.notebook September 08, 2016

Te rms Calculating Average Atomic Mass

Abundance; x Mass; + Abundance, x Mass; ...

Mass Number Average Atomic Mass

W mhkd Mass is usually measured in amu (atomic mass units)
_ N average mass of all the atoms : . .
= protons + neutrons Abundance is a percent written as a decimal
of an element
mass of 1 atom decimal number * Abundance
whole number on the periodic table
not on the periodic table most
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Example #1: Calculate the average atomic mass of Boron. Example #2- Chlorine has two naturally occurring isotopes,
- chlorine-35 and chlorine-37. The average atomic mass for
= chlorine is 35.453. Without doing any calculations, which
_ 0"" isotope is more abundant? Why?
O
Boron - 10 Boron - 11
19.9% Abundance 80.1% Abundance

Avg. at masg = (abunol "\o\ss) L (nh/md Wl““)
= (a9 b\+(&o| W= (040l
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Example #3: The atomic mass of rubidium is 85.4678 amu.
The naturally occuring isotopes are %°Rb = 84.9117 amu and
"Rb = 86.9086 amu. Determineypercent abur\dance of each

e H0+.50
054,78 = 817X+ BbA0bLy

Xv}\/:_l\/ =1~V
B85 U7 47 (| Ny 4 o 100
?)5,4(07®=6‘4.4H7ég“4_4{[7i + 669080y )
95 478 =817+ T267y
-84.917 ~84Aau7
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Example #4: The atomic mass of Thallium is 204.3833 amu.
The masses for the two stable isotopes are

202.9723 amu for thallium-203 and 204.9744 amu for
thallium-205. Calculate the percent abundance of

each isotope.
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thallium-205. Calculate the percent abundance of

each isotope.

D4 3933 = X473 + LA y
)(JC\J =1 x=lv

-_\

043833 = go;_q713(,_y)+ 2044744y

ao4.3933= 3029723 — {02 473y AT
W.3933= 2031723
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